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lllustration

1. A manufacturer sold electric goods for a

taxable value of ¥40,000 to the wholesaler.

Wholesaler sold it to the retailer for 48,000


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_IjDhfSQK6i3i

(taxable value). Retailer sold it to a customer
for ¥52,000 (taxable value). Rate of GST is 18%.
Find the CGST and SGST payable at each stage

of trading.

° Watch Video Solution

1. Arati Gas Agency supplied LPG cylinder to
the consumer for taxable value of 545. GST

charged is 5%. What is the amount of CGST


https://dl.doubtnut.com/l/_IjDhfSQK6i3i
https://dl.doubtnut.com/l/_OOMsvKo35svV

and
SGST in the tax invoice? What is the total
amount paid by the consumer? Find the

amount of GST to be paid by Arati Gas Agency.

° Watch Video Solution

2. Courier service agent charged total 590 to
courier a parcel from

Nashik to Nagpur. In the tax invoice value is
500 on which CGST is 45 and SGST is 45. Find

the rate of GST charged for this service.

| e |


https://dl.doubtnut.com/l/_OOMsvKo35svV
https://dl.doubtnut.com/l/_bZGGgv4QK5HM

& Wwatch Video Solution I

3. Shreeker bought a Laptop with 10%
discount on printed price. The printed price of
that Laptop was 50,000. 18% GST was charged
on discounted price. Find the amount of CGST
and SGST. What amount

did shreekar pay?

° Watch Video Solution



https://dl.doubtnut.com/l/_bZGGgv4QK5HM
https://dl.doubtnut.com/l/_99jEjYBmbh7q

4. Mr. Rohit is a retailer. He paid GST of 6500 at
the time of purchase.

He collected of GST of 8000 at the time of sale.
(i) Find has input tax and output tax.

(i) What is his Input tax credit?

(iii) Find his payable GST.

(iv). Hence find the payable CGST and payable

SGST.

o Watch Video Solution



https://dl.doubtnut.com/l/_uVayfH94AQ58

5. Mr. Rohit is a retailer. He paid GST of 6500 at
the time of purchase.

He collected of GST of 8000 at the time of sale.
(i) Find has input tax and output tax.

(i) What is his Input tax credit?

(iii) Find his payable GST.

(iv). Hence find the payable CGST and payable

SGST.

o Watch Video Solution



https://dl.doubtnut.com/l/_X7KZICU9KN2P

6. Mr. Rohit is a retailer. He paid GST of 6500 at
the time of purchase.

He collected of GST of 8000 at the time of sale.
(i) Find has input tax and output tax.

(i) What is his Input tax credit?

(iii) Find his payable GST.

(iv). Hence find the payable CGST and payable

SGST.

o Watch Video Solution



https://dl.doubtnut.com/l/_cmIwePOKZBil

7. Mr. Rohit is a retailer. He paid GST of 6500 at
the time of purchase.

He collected of GST of 8000 at the time of sale.
(i) Find has input tax and output tax.

(i) What is his Input tax credit?

(iii) Find his payable GST.

(iv). Hence find the payable CGST and payable

SGST.

o Watch Video Solution



https://dl.doubtnut.com/l/_OUKzfFKadn3y

8. M/s Jay chemicals purchased a liquid soap
having taxable value ¥8,000 and sold it to the
consumer for the taxable value ¥10,000. Rate
of GST is 18%. Find the CGST and SGST payable

by M/s Jay Chemicals.

o Watch Video Solution

9. M/s Jay Chemicals purchased a liquid soap
for ¥8000 (taxable value) and sold it to the

consumers for ¥10,000 (taxable value). Rate of


https://dl.doubtnut.com/l/_jspgo7UQEaBk
https://dl.doubtnut.com/l/_luujUtgz1G8c

GST is 18%. Find the amount of CGST and SGST

to be paid by Jay Chemicals.

° Watch Video Solution

10. A manufacturer sold electric goods for a
taxable value of ¥40,000 to the wholesaler.
Wholesaler sold it to the retailer for ¥48,000
(taxable value). Retailer sold it to a customer
for ¥52,000 (taxable value). Rate of GST is 18%.
Find the CGST and SGST payable at each stage

of trading.

| e |


https://dl.doubtnut.com/l/_luujUtgz1G8c
https://dl.doubtnut.com/l/_NPpmDNcDBArt

& Wwatch Video Solution I

11. If 50 shares of FV 100 each are purchased

for MV 120. Find the sum invested.

o Watch Video Solution

12. If you want to purchase 50 shares of MV 50

each. What is the total amount to be paid?

° Watch Video Solution



https://dl.doubtnut.com/l/_NPpmDNcDBArt
https://dl.doubtnut.com/l/_PVDJ61XA9ihC
https://dl.doubtnut.com/l/_5ggbeb7Cb6r3
https://dl.doubtnut.com/l/_6ob6nNzf8O0C

13. Shriyas purchased a share of FV 100 for MV
of 120. Company declared 15% dividend on the

share. Find the rate of return.

° Watch Video Solution

14. FV=100, Premium =65 then MV=?

° Watch Video Solution



https://dl.doubtnut.com/l/_6ob6nNzf8O0C
https://dl.doubtnut.com/l/_ZajvEmJnqXWf

15.

)| [2x+y=5..(@1)| Adding 3
3x —y=>5... (ii)| (i) and (ii) et
& Substituting
x=["lin (i)
y=7

o Watch Video Solution

16. Neel has invested in shares as follows. Find
his total investment.

Company A: 350 shares, FV=10, premium =7
Company B : 2750 shares, FV=5, Discount =1

Company C: 50 shares, FV=100, MV=150


https://dl.doubtnut.com/l/_JC1TwEqOi7Gl
https://dl.doubtnut.com/l/_JwSSzigPPtWu

° Watch Video Solution

17. Smita has invested ¥12,000 and purchased
shares of FV %10 at a premium of ¥2. Find the

number of shares she purchased.

° Watch Video Solution

18. 50 shares of FV %10 were purchased for MV

of ¥25. Company declared 30% dividend on the


https://dl.doubtnut.com/l/_JwSSzigPPtWu
https://dl.doubtnut.com/l/_HoKLifToYouY
https://dl.doubtnut.com/l/_Z1kByTqvEOuL

shares. Find (i)Sum invested (ii)Dividend

earned (iii)Rate of return.

° Watch Video Solution

19. 50 shares of FV %10 were purchased for MV
of ¥25. Company declared 30% dividend on the
shares. Find (i)Sum invested (ii)Dividend

earned (iii)Rate of return.

o Watch Video Solution



https://dl.doubtnut.com/l/_Z1kByTqvEOuL
https://dl.doubtnut.com/l/_8G6f6HOKFVLX

20. 50 shares of FV ¥10 were purchased for MV
of ¥25. Company declared 30% dividend on the
shares. Find (i)Sum invested (ii)Dividend

earned (iii)Rate of return.

o Watch Video Solution

21. Suppose if the face value of the share is 100
and market value
is 150. Let the rate of brokerage to 0.5. What

amount should one


https://dl.doubtnut.com/l/_3CSBDRnRbGtZ
https://dl.doubtnut.com/l/_jPZKJgnWyr38

pay for purchasing 100 such shares? What
amount should one

receive after selling 100 such shares?

o Watch Video Solution

22. A person paid 75 brokerage for buying
100 shares. The rate of GST on brokerage is
18%. Find the amount of GST to be paid to the

broker.

° Watch Video Solution



https://dl.doubtnut.com/l/_jPZKJgnWyr38
https://dl.doubtnut.com/l/_kFkyAm5wkDWL
https://dl.doubtnut.com/l/_BCM3wMtFUaCy

23. Bashirkhan purchased 100 shares of MV 40.
Brokerage paid at the

rate of 0.5% and rate of GST on brokerage is
18%. Find the total amount he paid for the

share purchase.

o Watch Video Solution

24. Pankajrao invested 1,25,295 in shares of FV
10, when MV is 125.
Rate of brokerage is 0.2% and GST is 18%. Then

find (i) How many shares were purchased.


https://dl.doubtnut.com/l/_BCM3wMtFUaCy
https://dl.doubtnut.com/l/_GKDmNRJZixzO

(i)). The amount of brokerage paid and (iii) GST

paid for the trading.

° Watch Video Solution

25. Nalinitai invested 6024 in the shares of FV
10 when the Market Value was 60. She sold all
the shares at MV of 50 after taking 60%
divident. She paid 0.4% brokerage at each
stage of transactions. What was

the total gain or loss in this transaction?

° Watch Video Solution



https://dl.doubtnut.com/l/_GKDmNRJZixzO
https://dl.doubtnut.com/l/_Jw11Rc7fKwnd

26. If the total value of the mutual fund

scheme is 200 crores and

8 crore units are issued them find the NAV of

ohe units.

° Watch Video Solution

27. If NAV of one unit is ¥25, then how many
units will be allotted for the investment of

¥10,0007 a)100 b)200 c)300 d)400

l ° Watch Video Solution


https://dl.doubtnut.com/l/_Jw11Rc7fKwnd
https://dl.doubtnut.com/l/_E1II2ILGvIc0
https://dl.doubtnut.com/l/_9PiVDJiznNy6

Practice Set 4 1

1. Pawan Medical supplies medicines. On some

medicines the rate of GST is 12%, then what is

the rate of CGST and SGST?

o Watch Video Solution

2. On certain article if rate of CGST is 9% then

what is the rate of SGST? And what is the rate


https://dl.doubtnut.com/l/_9PiVDJiznNy6
https://dl.doubtnut.com/l/_hFu8l4OhyUVm
https://dl.doubtnut.com/l/_QfnL5ePIdVo5

of GST?

o Watch Video Solution

3. M/s Real Paint sold 2 tins of lustre paint and
taxable value of each tin is ¥2800. If the rate of
GST is 28%, then find the amount of CGST and

SGST in the tax invoice.

° Watch Video Solution



https://dl.doubtnut.com/l/_QfnL5ePIdVo5
https://dl.doubtnut.com/l/_34g6y6GWdLnV

4.The taxable value of wrist watch belt is ¥586.
Rate of GST is 18%, then what is price of the

belt for the customer?

o Watch Video Solution

5. The total value (with GST) of a remote
controlled toy car is ¥1770. Rate of GST is 18%
on toys. Find the taxable value, CGST and SGST

for this toy-car.

° Watch Video Solution



https://dl.doubtnut.com/l/_duAUO6Vchj11
https://dl.doubtnut.com/l/_FoCqQF90PciB

6. Tiptop Electronics supplied an AC of 1.5 ton
to a company. Cost of the AC supplied is
¥51,200 (with GST). Rate of CGST on AC is
14%.Then find the following amounts as shown
in the tax invoice of Tiptop Electronics. (1)Rate
of SGST (2)Rate of GST. (3)Taxable value of AC.
(4)Total amount of GST (5)Amount of CGST.

(6)Amount of SGST.

o Watch Video Solution



https://dl.doubtnut.com/l/_FoCqQF90PciB
https://dl.doubtnut.com/l/_UWyjSdAPWdL6

7. Tiptop Electronics supplied an AC of 1.5 ton
to a company. Cost of the AC supplied is
¥51,200 (with GST). Rate of CGST on AC is
14%.Then find the following amounts as shown
in the tax invoice of Tiptop Electronics. (1)Rate
of SGST (2)Rate of GST. (3)Taxable value of AC.
(4)Total amount of GST (5)Amount of CGST.

(6)Amount of SGST.

o Watch Video Solution



https://dl.doubtnut.com/l/_HP6Ygg8bB10P

8. Tip top Electronics supplied an AC of 1.5 ton
to a company . The cost of AC supplied is Rs
51,200 (with GST). The rate of CGST on AC is
14% . Then find the following amounts as
shown in tax invoice of tip top electronics:

Taxable value of AC

o Watch Video Solution

9. Tiptop Electronics supplied an AC of 1.5 ton

to a company. Cost of the AC supplied is


https://dl.doubtnut.com/l/_92YUSE5udfFQ
https://dl.doubtnut.com/l/_7nwuHS598FEH

¥51,200 (with GST). Rate of CGST on AC is
14%.Then find the following amounts as shown
in the tax invoice of Tiptop Electronics. (1)Rate
of SGST (2)Rate of GST. (3)Taxable value of AC.
(4)Total amount of GST (5)Amount of CGST.

(6)Amount of SGST.

o Watch Video Solution

10. Tiptop Electronics supplied an AC of 1.5 ton
to a company. Cost of the AC supplied is

351,200 (with GST). Rate of CGST on AC is


https://dl.doubtnut.com/l/_7nwuHS598FEH
https://dl.doubtnut.com/l/_85h5Yz6phDq5

14%.Then find the following amounts as shown
in the tax invoice of Tiptop Electronics. (1)Rate
of SGST (2)Rate of GST. (3)Taxable value of AC.
(4)Total amount of GST (5)Amount of CGST.

(6)Amount of SGST.

o Watch Video Solution

11. Tiptop Electronics supplied an AC of 1.5 ton
to a company. Cost of the AC supplied is
¥51,200 (with GST). Rate of CGST on AC is

14%.Then find the following amounts as shown


https://dl.doubtnut.com/l/_85h5Yz6phDq5
https://dl.doubtnut.com/l/_IQLli4Ek3m9Q

in the tax invoice of Tiptop Electronics. (1)Rate
of SGST (2)Rate of GST. (3)Taxable value of AC.
(4)Total amount of GST (5)Amount of CGST.

(6)Amount of SGST.

O Watch Video Solution

12. Prasad purchased a washing-machine from
'Maharashtra Electronic Goods'. The discount
of 5% was given on the printed price of
¥40,000. Rate of GST charged was 28%. Find

the purchase price of washing machine. Also


https://dl.doubtnut.com/l/_IQLli4Ek3m9Q
https://dl.doubtnut.com/l/_L3520QQWDRUP

find the amount of CGST and SGST shown in

the tax invoice.

° Watch Video Solution

Practice Set 4 2

1. Chetana Store paid total GST of ¥1,00,500 at

the time of purchase and collected GST
¥1,22,500 at the time of sale during 1st of July
2017 to 31st July 2017. Find the GST payable by

Chetana Stores.



https://dl.doubtnut.com/l/_L3520QQWDRUP
https://dl.doubtnut.com/l/_s6FKE8ZJoj5N

Watch Video Solution

2. Nazama is a proprietor of a firm, registered
under GST. She has paid GST of 12,500 on
purchase and collected 14,750 on sale. What
is the amount of ITC to be claimed? What is

the amount of GST payable?

o Watch Video Solution

3. Amir Enterprise purchased chocolate sauce

bottles and paid GST of ¥3800. He sold those


https://dl.doubtnut.com/l/_s6FKE8ZJoj5N
https://dl.doubtnut.com/l/_4HGoAHtKbwPm
https://dl.doubtnut.com/l/_FxZMjSQC0WyI

bottles to Akbari Bros. and collected GST of
34100. Mayank Food Corner purchased these
bottles from Akbari Bros and paid GST of
¥4500. Find the amount of GST payable at
every stage of trading and hence find payable

CGST and SGST.

o Watch Video Solution

4. Malik Gas Agency (Chandigarh Union
Territory) purchased some gas cylinders for

industrial use for ¥24,500 and sold them to


https://dl.doubtnut.com/l/_FxZMjSQC0WyI
https://dl.doubtnut.com/l/_Es55jkP8IhW0

the local customers for ¥26,500. Find the GST
to be paid at the rate of 5% and hence the
CGST and UTGST to be paid for this
transaction. (for Union Territories there is

UTGST instead of SGST).

o Watch Video Solution

5. M/s Beauty Products paid 18% GST on
cosmetics worth 6,000 and sold to a

customer for ¥10,000. What are the amounts


https://dl.doubtnut.com/l/_Es55jkP8IhW0
https://dl.doubtnut.com/l/_VOGyNcqsBf7T

of CGST and SGST shown in the tax invoice

issued?

o Watch Video Solution

6. Prepare Business to Customer(B2C) tax
invoice using given information.Write the
name of the supplieraddress,statedate of
invoice number,GSTIN etcas per your
choice.Supplier:m/s.......... Address...........

State.....o.... Date............. Invoice NO:..eees

GSTIN......... particluars-Rate of mobile battery-


https://dl.doubtnut.com/l/_VOGyNcqsBf7T
https://dl.doubtnut.com/l/_JhHfse1CiGWV

T200,Rate of GST 12%,HSN 85071 pc. Rate of

Headphone<®750,Rate of GST 18%,HSN 8518, 1

pC.

o Watch Video Solution

7. Prepare Business to Business(B2B)Tax
Invoice as per the details given below.name of
the supplier,address,Date etc as per your
choice.Supplier -
Name,Address,State,GSTIN,Invoice NO,Date

Recipient -Name,Address,State,GSTIN, Items:


https://dl.doubtnut.com/l/_JhHfse1CiGWV
https://dl.doubtnut.com/l/_Jy3MmhDXQLpm

(1)Pencil boxes 100,HSN-3924 Rate ¥20,GST 12%.
(2))Jigsaw Puzzles 50,HSN-9503,Rate ¥100 GST

12%.

o Watch Video Solution

Practice Set 4 3

1.
|2+y=5.. () |_Adding |
3x-y=>5 ... (ii) (i) and (i) s;ubsﬁtun‘ng
x=[_Jin (i)
y=2?



https://dl.doubtnut.com/l/_Jy3MmhDXQLpm
https://dl.doubtnut.com/l/_3QqRLw8OTtF4

I 0 Watch Video Solution I

2. Mr. Amol purchased 50 shared of Face value
100 when the Market value of the share was
80. Company had given 20% dividend. Find

the rate of return on investment.

o Watch Video Solution

3. Joseph purchased following shares, Find his
total investment.

Company A: 200 shares, FV=2 Premium =18.


https://dl.doubtnut.com/l/_3QqRLw8OTtF4
https://dl.doubtnut.com/l/_BaYcmkLsNOgM
https://dl.doubtnut.com/l/_GsOW5hCYTB7u

Company B : 45 shares, MV=500

Company C: 1 share, MV=10,540

° Watch Video Solution

4.Smt Deshpande purchased shares of FV Rs 5
at a premium of Rs 20 . How many shares will

she get for Rs 20,0007

° Watch Video Solution



https://dl.doubtnut.com/l/_GsOW5hCYTB7u
https://dl.doubtnut.com/l/_BrDOdvYHahRg

5. Shri Shantilal purchased 150 shares of FV Rs
100 for MV of Rs 120. Company paid the
dividend at 7% . Find the rate of return on his

investment.

o Watch Video Solution

6. If the face value of both the shares is same,
then which investment

out of the following is more profitable?


https://dl.doubtnut.com/l/_iMCRnd95JFzg
https://dl.doubtnut.com/l/_GDBIUYXelH6i

Company A : dividend 16%, MV=80,

Company B : dividend 20%, MV=120.

° Watch Video Solution

Practice Set 4 4

1. Market value of a share is ¥200. If the

brokerage rate is 0.3%, then find the purchase

value of the share.

° Watch Video Solution



https://dl.doubtnut.com/l/_GDBIUYXelH6i
https://dl.doubtnut.com/l/_pJ5WZ7NeRMUA
https://dl.doubtnut.com/l/_Snx21vnGPG88

2. A share is sold for the market value of Rs
1000. Brokerage is paid at the rate of 0.1% .

What is the amount received after the sale ?

° Watch Video Solution

3.
| §x+y=§"_ ET?) Adding . x=?
X—y=2..(1) (i i
Y gyand.(h) Substituting
x=[_lin (i)
y=1?

° Watch Video Solution



https://dl.doubtnut.com/l/_Snx21vnGPG88
https://dl.doubtnut.com/l/_cXaTieTvCHAY

4., Smt.Desai sold shares of face value 100
when the market value was ¥50 and received
¥4988.20. She paid brokerage 0.2% and GST on
brokerage 18%, then how many shares did she

sell?

o Watch Video Solution

5. Mr.D'souza purchased 200 shares of FV ¥50
at a premium of ¥100. He received 50%

dividend on the shares. After receiving the


https://dl.doubtnut.com/l/_sk1q7fy6jRKB
https://dl.doubtnut.com/l/_Hptj870tAEs9

dividend he sold 100 shares at a discount of
¥10 and remaining shares were sold at a
premium of ¥75. For each trade he paid the
brokerage of ¥20. Find gain or loss value of Mr.

D'souza.

o Watch Video Solution

Problem Set 4 A Write The Correct Alternative

1. Rate of GST (%) on essential commodities

is....a)0 b)d ¢)12 d)28


https://dl.doubtnut.com/l/_Hptj870tAEs9
https://dl.doubtnut.com/l/_7G3zCcI3K3ZX

A. 5%

B.12 %

C.0%

D.18 %

Answer: C

o Watch Video Solution

2. The tax levied by the central government for
trading within state is.....a)IGST b)CGST ¢)SGST

d)UTGST


https://dl.doubtnut.com/l/_7G3zCcI3K3ZX
https://dl.doubtnut.com/l/_Ts12JFMWiiFc

A. IGST

B. CGST

C.SGST

D. UTGST

Answer: B

o Watch Video Solution

3. GST system was introduced in our country
from......... a)31st March 2017 b)ist April 2017

c)1st January 2017 d)1st July 2017


https://dl.doubtnut.com/l/_Ts12JFMWiiFc
https://dl.doubtnut.com/l/_2b8m2Q3Sv2AE

A. 31st March 2017

B. 1st April 2017

C. 1st January 2017

D. 1st July 2017

Answer: D

o Watch Video Solution

4. Write the correct alternative for each of the

following:


https://dl.doubtnut.com/l/_2b8m2Q3Sv2AE
https://dl.doubtnut.com/l/_a1HnCwIAzfT1

The rate of GST on stainless steel utensils is

18% , then the rate of state GST is...

A. 18 %

B.9%

C.36 %

D.0.9 %

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_a1HnCwIAzfT1

5.In the format of GSTIN there are

numerals. a)10 b)16 )9 d)15

A. 15

B.10

C.16

D.9

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8kDWd1X3LXc2

Problem Set 4 A

1. When a registered dealer sells goods to

another registered dealer under GST, then this

trading is termed as ......

A. BB

B.B2B

C.BC

D.B2C

Answer: B



https://dl.doubtnut.com/l/_A4qzLItCePfI

\ o Watch Video Solution

2. A dealer gives 10% discount on a show piece
of ¥25,000. GST of 28% was charged on the
discounted price. Find the total amount
shown in the tax invoice. What is the amount

of CGST and SGST?

o Watch Video Solution



https://dl.doubtnut.com/l/_A4qzLItCePfI
https://dl.doubtnut.com/l/_cIeziYKnzHHK

3. A ready made garment shopkeeper gives 5%
discount on the dress of ¥1000 and charges
5% GST on the remaining amount, then what
is the purchase price of the dress for the

customer?

o Watch Video Solution

4. A ready made garment shopkeeper gives 5%
discount on the dress of ¥1000 and charges

5% GST on the remaining amount, then what


https://dl.doubtnut.com/l/_NfnV9ttAU9Pz
https://dl.doubtnut.com/l/_YHQoP0z4itsH

is the purchase price of the dress for the

customer?

° Watch Video Solution

5. Smt. Malhotra purchased solar panels for
the taxable value of ¥85,000. She sold them for
3¥90,000.The rate of GST is 5%. Find the ITC of
Smt. Malhotra. What is the amount of GST

payable by her?

° Watch Video Solution



https://dl.doubtnut.com/l/_YHQoP0z4itsH
https://dl.doubtnut.com/l/_ElixGeqTu1ex
https://dl.doubtnut.com/l/_LEE47nP5rKQF

6. A company provided Z-security services for
the taxable value of ¥64,500. Rate of GST is
18%. Company had paid GST of %1550 for
laundry services and uniforms etc. What is the
amount of ITC (Input Tax Credit)? Find the
amount of CGST and SGST payable by the

company.

o Watch Video Solution

7. A dealer supplies walky-Talky set of

¥84,000(with GST) to police control room.


https://dl.doubtnut.com/l/_LEE47nP5rKQF
https://dl.doubtnut.com/l/_mqGeLgDl2Z9x

Rate of GST is 12%. Find the amount of state
and central GST charged by the dealer. Also

find the taxable value of the set.

o Watch Video Solution

8. Rate of GST (%) on essential commodities

is...a)0 b)5 )12 d)28

° Watch Video Solution



https://dl.doubtnut.com/l/_mqGeLgDl2Z9x
https://dl.doubtnut.com/l/_ifmjVm0VFcRQ

9. Anna Patil (Thane, Maharashtra) supplied
vacuum cleaner to a shopkeeper in Vasai
(Mumbai, Maharashtra) for the taxable value
of 14,000 and GST rate of 28%. Shopkeeper
sold it to the customer at the same GST rate
of 16,800 (taxable value). Find the following-
(1)Amount of CGST and SGST shown in the tax
invoice issued by Anna Patil. (2)Amount of
CGST and SGST charged by the shopkeeper in
Vasai. (3)What is the CGST and SGST payable
by shopkeeper in Vasai at the time of filing the

return?


https://dl.doubtnut.com/l/_Iy8zq2jyh60k

O Watch Video Solution

10. Anna Patil (Thane, Maharashtra) supplied
vacuum cleaner to a shopkeeper in Vasai
(Mumbai, Maharashtra) for the taxable value
of 14,000 and GST rate of 28%. Shopkeeper
sold it to the customer at the same GST rate
of 16,800 (taxable value). Find the following-
(1)Amount of CGST and SGST shown in the tax
invoice issued by Anna Patil. (2)Amount of
CGST and SGST charged by the shopkeeper in

Vasai. (3)What is the CGST and SGST payable


https://dl.doubtnut.com/l/_Iy8zq2jyh60k
https://dl.doubtnut.com/l/_A1UicjAYlUMg

by shopkeeper in Vasai at the time of filing the

return?

o Watch Video Solution

11. Anna Patil (Thane, Maharashtra) supplied
vacuum cleaner to a shopkeeper in Vasai
(Mumbai, Maharashtra) for the taxable value
of 14,000 and GST rate of 28%. Shopkeeper
sold it to the customer at the same GST rate
of 16,800 (taxable value). Find the following-

(1)Amount of CGST and SGST shown in the tax


https://dl.doubtnut.com/l/_A1UicjAYlUMg
https://dl.doubtnut.com/l/_BzfwaIdv6xHO

invoice issued by Anna Patil. (2)Amount of
CGST and SGST charged by the shopkeeper in
Vasai. (3)What is the CGST and SGST payable
by shopkeeper in Vasai at the time of filing the

return?

o Watch Video Solution

12. For the given trading prepare the tax
invoice I, 11, lll. GST at the rate

of 5% was charged for the article supplied


https://dl.doubtnut.com/l/_BzfwaIdv6xHO
https://dl.doubtnut.com/l/_545diywGlk8E

Tax invoice Tax invoice

11

1 able value Taxable value Taxable value " .
!4000 T 5500 T 6500

(@) Prepare the statement of GST payable

under each head by the wholesaler, distributor
and retailer at the time of filling the return to
the government.

(b) What is the amount paid by the consumer.

° Watch Video Solution



https://dl.doubtnut.com/l/_545diywGlk8E

13. Match the pairs:

(1) Diamond (a) 15
(2) Air (b) 2.42
(3) Alcohol () 1.77
(4) Benzene (d) 1.36
L ey LR

o Watch Video Solution



https://dl.doubtnut.com/l/_yKjM9I03MK5I

14. Match the pairs:

Column A ; Column B
(1) Diamond @) 15
(2) Air (b) 2.42
(3) Alcohol (©) 1.77
(4) Benzene (d) 1.36
() 1.0003

o Watch Video Solution

Problem Set 4 B Write The Correct Alternative

1. Which of the following statements is

correct?



https://dl.doubtnut.com/l/_15K9YyxOkH9X
https://dl.doubtnut.com/l/_dnV8BeEH9xMr

A. The share is at premium of Rs 175

B. The share is at discount of Rs 25

C. The share is at premium of Rs 25

D. The share is at discount of Rs 75

Answer: B

o Watch Video Solution

2. What is the amount of dividend received per
share of face value ¥10 and dividend declared

is 50%


https://dl.doubtnut.com/l/_dnV8BeEH9xMr
https://dl.doubtnut.com/l/_iVFOJdz2dcih

A.Rs 50

B.Rs 5

C.Rs 500

D. Rs 100

Answer: B

o Watch Video Solution

3. The NAV of a unit in mutual fund scheme is
?10.65 then find the amount required to buy

500 such units.


https://dl.doubtnut.com/l/_iVFOJdz2dcih
https://dl.doubtnut.com/l/_lrvPi8NNPH0C

A. 5325

B. 5235

C. 532500

D. 53250

Answer: A

o Watch Video Solution

4. Rate of GST on brokerage is

A.5%


https://dl.doubtnut.com/l/_lrvPi8NNPH0C
https://dl.doubtnut.com/l/_7DPU0JlU2jq4

B.12 %

C.18 %

D. 28 %

Answer: C

o Watch Video Solution

5. To find the cost of one share at the time of
buying the amount of brokerage and GST is to

be ... the MV of share.


https://dl.doubtnut.com/l/_7DPU0JlU2jq4
https://dl.doubtnut.com/l/_IF0nGeMJxeAu

A. added to

B. substracted from

C. Multiplied with

D. divided by

Answer: A

° Watch Video Solution

Problem Set 4 B


https://dl.doubtnut.com/l/_IF0nGeMJxeAu

1. Find the purchase price of a share of FV 3100
if it is at premium of ¥30. The brokerage rate is

0.3%.

o Watch Video Solution

2. Prashant bought 50 shares of FV %100
having MV ¥180. Company gave 40% dividend
on the shares. Find the rate of return on

investment.

° Watch Video Solution



https://dl.doubtnut.com/l/_fFSbn8B1nRhK
https://dl.doubtnut.com/l/_vJYK2J1XeHsa

3. Find the amount received when 300 shares

of FV X100, were sold at a discount of X30.

o Watch Video Solution

4. Find the number of shares received when
60, 000 was invested in the shares of FV X100

and MV X120.

o Watch Video Solution



https://dl.doubtnut.com/l/_vJYK2J1XeHsa
https://dl.doubtnut.com/l/_b5UCRfydbwmK
https://dl.doubtnut.com/l/_zkZfGjKBFJfO
https://dl.doubtnut.com/l/_esOu6dfsqTwe

5. Smt. Agarwal invested ¥10,200 when MV of
the share is ¥100. She sold 60 shares when the
MV was %125 and sold remaining shares when
the MV was ¥90. She paid 0.1% brokerage for
each trading. Find whether she made profit or

loss? And how much?

o Watch Video Solution

6. Market value of shares and dividend
declared by the two companies is given below.

Face value is same and it is 100 for both the


https://dl.doubtnut.com/l/_esOu6dfsqTwe
https://dl.doubtnut.com/l/_aPFAZhJrtrca

shares. Investment in which company is more
profitable?
a. Company A -160, 15%

b. Company B -225, 20%

° Watch Video Solution

7. Market value of shares and dividend
declared by the two companies is given below.
Face value is same and it is 100 for both the
shares. Investment in which company is more

profitable?


https://dl.doubtnut.com/l/_aPFAZhJrtrca
https://dl.doubtnut.com/l/_hIuQ8lbBdb4x

a. Company A -160, 15%

b. Company B -225, 20%

° Watch Video Solution

8. Rate of GST on brokerage is

° Watch Video Solution

9. Shri.Batliwala sold shares of ¥30,350 and
purchased shares of ¥69,650 in a dayHe paid

brokerage at the rate of 01% on sale and


https://dl.doubtnut.com/l/_hIuQ8lbBdb4x
https://dl.doubtnut.com/l/_UM2Nnv6eoLO8
https://dl.doubtnut.com/l/_Vb7mR7LzoGJ6

purchasel8% GST was charged on
brokerage.Find his total expenditure on

brokerage and tax.

o Watch Video Solution

10. Smt. Aruna Thakkar purchased 100 shares
of FV 100 when the MV is 1200. She paid
brokerage at the rate of 0.3% and 18% GST on
brokerage. Find the following -

(i) Net amount paid for 100 shares.

(i) Brokerage paid on sum invested.


https://dl.doubtnut.com/l/_Vb7mR7LzoGJ6
https://dl.doubtnut.com/l/_TQtlKia795KL

(i) GST paid on brokerage.

(iv) Total amount paid for 100 shares.

o Watch Video Solution

11. Smt. Aruna Thakkar purchased 100 shares of
FV 100 when the MV is 1200. She paid
brokerage at the rate of 0.3% and 18% GST on
brokerage. Find the following -

(i) Net amount paid for 100 shares.

(i) Brokerage paid on sum invested.


https://dl.doubtnut.com/l/_TQtlKia795KL
https://dl.doubtnut.com/l/_r3N8hjsxBuzZ

(i) GST paid on brokerage.

(iv) Total amount paid for 100 shares.

o Watch Video Solution

12. Smt. Aruna Thakkar purchased 100 shares
of FV 100 when the MV is 1200. She paid
brokerage at the rate of 0.3% and 18% GST on
brokerage. Find the following -

(i) Net amount paid for 100 shares.

(i) Brokerage paid on sum invested.


https://dl.doubtnut.com/l/_r3N8hjsxBuzZ
https://dl.doubtnut.com/l/_xtwBzw1OmfL5

(i) GST paid on brokerage.

(iv) Total amount paid for 100 shares.

o Watch Video Solution

13. Smt. Aruna Thakkar purchased 100 shares
of FV 100 when the MV is 1200. She paid
brokerage at the rate of 0.3% and 18% GST on
brokerage. Find the following -

(i) Net amount paid for 100 shares.

(i) Brokerage paid on sum invested.


https://dl.doubtnut.com/l/_xtwBzw1OmfL5
https://dl.doubtnut.com/l/_6oMLMH6zrWEr

(iii) GST paid on brokerage.

(iv) Total amount paid for 100 shares.

o Watch Video Solution

14. Smt Anagha Doshi purchased 22 shares of
FV Rs 100 for market value Of Rs 660. Find the
sum invested . After receiving 20% dividend ,
she sold sll the shares when market value was
Rs 650. She paid 0.1% brokerage for each

trading done. Find the per cent of profit or


https://dl.doubtnut.com/l/_6oMLMH6zrWEr
https://dl.doubtnut.com/l/_2SwYZiaUpbRV

loss in the share trading .(Write your answer

to the nearest integer.)

° Watch Video Solution



https://dl.doubtnut.com/l/_2SwYZiaUpbRV

